N & 0l & AF S & M M

20148 = 20l A LEHSH FALX X2
EXN: FAXE
B SNQUH HASY L3
ool HAYY JIBEY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= AR X D} 14,127,423 17,847,345 N3,719,922
2 476,672
2 3,614,000
J| 1,006,846
= 3,394,044
= 5,635,861
SAPLUN SHASH LG 14,073,235 17,791,892 N3,718,657
= 476,672
2 3,614,000
J| 1,006,846
= 3,394,044
= 5,581,673
EAAEY Jletx M 2,987,667 4,395,442 N 1,407,775
2 20,000
J| 786,655
< 461,609
= 1,719,403
AR08 ZHALS 406,500 474,600 A 68,100
307 2Iz2t0| & 30,000 60,000 A 30,000
02 QI2tAAE X2 30,000 60,000 A 30,000
OTMR BXEIIM X (HA) 30,000
402 SI2VXHE0| & 376,500 414,600 A 38,100
01 QI2t X2 X 376,500 414,600 A 38,100
OABHESEX XNJAALE 37,500
OA 8ED| XNSEAY 1,400,000 *30 & *50% 21,000
OXEs AMZ220|2t2l XA
200,000 *500 2 *50% 50,000
OXA HH XS AE 20,000& *x2, 0005 *x50% 20,000
OZXATMREHEIAIZ DJIs4d &EIOMM X 10,000
O M2 &N XA 20,000
O%=E SED| NEAFE 5,000,000 *10CH *50% 25,000
QODNEZRAEE XNAMNG(HH)
15,000& *5, 0005 *50% 37,500
O%UAH LHEI| XA 30,000
O2H M2HELD XNSAY 20,000
OJi2 &EZJ XNIAZE 5,000,000 *10ZX *50% 25,000
OLHEED XNSEAS 30,000
O%E JINM XNEAS 40,000,000 *50% 20,000
OLd=EMLI KA 2,600,000 *5CH *50% 6,500
OEEJINM NIAY 24,000
HEe MAD|BIE =AY 48,500 48,450 50
201 Bt 500 450 50
01 AP 22| H| 500 450 50
OXAMNSZMA AHEH 2EEI =2 500
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AN SMX=0
B SNQUH HASY L3
SRl SMTY JBEY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 o4dl 4,000 4,000 0
01 = LH o4 1l 4,000 4,000 0
O&HEcCIAIY F& Y| 4,000
203 YR =2t 4,000 4,000 0
03 Al =AY R =&Y 4,000 4,000 0
Osgas =% 4,000
402 RI2EX=01 M 40,000 0 40,000
01 RIZEAr=2 82 X 40,000 0 40,000
OZE AL 2| XI Z LM X & At 40,000
=EEEMY 446,425 540,500 294,075
402 RIZER20l A 446,425 540,500 A 94,075
02 BI2HCH & AFH HI 446,425 540,500 294,075
OgtRilss ditatESAY 360,000
OstR+=Zet0l A ALY 850,000& 1405 x70% 83,300
O4s S2LXI XA
2,500,000& *5Z& x25% 3,125
EMNS(EEe) 22 Z 120,000 300,000 A 180,000
J| 30,000
= 30,000
s 60,000
402 BI2EX =01 M 120,000 300,000 A 180,000
J| 30,000
< 30,000
s 60,000
01 RIZEAI=2E X 120,000 300,000 A 180,000
OEME BSH 2eH&Hl X3 A
150,000,000 & *2 2 x40% 120,000
J| 30,000
< 30,000
s 60,000
StNRFSAAY 52,092 52,092 0
J| 31,255
< 5,209
s 15,628
402 QI2HAHE01 M 52,092 52,092 0
J| 31,255
< 5,209
[ia 15,628
02 BI2HCH & AFH HI 52,092 52,092 0
ORI IAAMY 52,092
J| 31,255
< 5,209
[ia 15,628
SIRPAALARIEH NS ALY 57,750 53,200 4,550
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X ZH -
L= B

el

e
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1y
oy
tol

L e
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B oo
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rx
0

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

19,250
38,500

Mo

k=
N

F
[

402 201 ™ 57,750 53,200 4,550
19,250

38,500

EURLY

02 2l

ry
o
02

At

EN

] 57,750 53,200 4,550
HEEIMEAMY 96,250,000 *60% 57,750
19,250
38,500

®
]
{0
00
30 @

EUNL

OF
=)
bl
0z
rx
e
0
>
9

37,000 38,000 A 1,000

11,100
25,900

UL

402 2I2tX2 01 & 37,000 38,000 A 1,000

11,100
25,900

VY

o
o
ra
v
o
o
0
>
=

37,000 38,000 A 1,000
10,000& +3,7005 37,000

11,100
25,900

O
O
(=]
pal
0z
> 19
e
0z
>
Q

EURLY

ZRI AEM XA 33,000 33,000 0
13,200
19,800

M H

402 2I2tXt=01 & 33,000 33,000 0
13,200
19,800

UL

01 l2tt=2e X 33,000 33,000 0
& NEM XJAS

30,000& *2,200& *50% 33,000
13,200
19,800

EUNLY

T
>
alll
0
HL
©
=
=
el
I
i
o
0
e
0t

149,400 168,000 A 18,600
Il 149,400

307 21201 & 149,400 168,000 A 18,600
Il 149,400

02 QIZtFAE X 149,400 168,000 A 18,600
SHHY 2EXE 22 (BXN)

498,000, 000 «30% 149,400
Il 149,400

e
>
P
o
HE
]
1
e
>
Y
==

,228,000 1,836,000 608,000
576,000
192,000
460,000

S

EURE

307 21201 &

,228,000 1,836,000 608,000
576,000
192,000
460,000

S

A

- 199 -




AN SMX=0
B SNQUH HASY L3
SRl SMTY JBEY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 2B AEXS 1,228,000 1,836,000 A 608,000
OZ A& #=&tHI Xl 1,228,000
J| 576,000
< 192,000
[ia 460,000
IIEMHEE s 223 N 140,000 140,000 0
< 52,500
[ia 87,500
402 RI2EX20| ™ 140,000 140,000 0
= 52,500
[ia 87,500
02 BI2HCH & A& HI 140,000 140,000 0
OJt=MollE2E sgel RE3 XA
280,000, 000& *50% 140,000
< 52,500
[ia 87,500
EMNE MAZEHF XA 110,000 602,600 A 492,600
= 93,000
s 17,000
307 21201 A 110,000 602,600 A 492,600
< 93,000
s 17,000
02 B AEXS 110,000 602,600 A 492,600
OSAZ ditEedis XA 110,000
< 93,000
i 17,000
HE40 & ZHEYE HEs =4 7,000 7,000 0
< 2,100
s 4,900
402 RI2FX=201 M 7,000 7,000 0
< 2,100
s 4,900
02 RI2HCH & AFH HI 7,000 7,000 0
OX=4UY &2 Z2HEUME HEF SHAY
50,000& 1405 7,000
< 2,100
s 4,900
4ol Bt U S 5,000 0 5,000
307 gl2tol & 5,000 0 5,000
02 QIZtFAEXZ 5,000 0 5,000
OF4tol sHotsHal X 5,000
DEE FHE MAXA 63,500 33,000 30,500
< 25,400
i 38,100
307 glz2+ol & 28,500 18,000 10,500
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AN SMX=0
B SNQUH HASY L3
SRl SMTY JBEY CERED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
= 11,400
a 17,100
02 QIAHFAEXS 28,500 18,000 10,500
OFUESES 4 NAANE 57,000, 000 «50% 28,500
& 11,400
T 17,100
402 RI2FX=01 M 35,000 15,000 20,000
= 14,000
s 21,000
01 RIZEAI=2E X 35,000 15,000 20,000
O IR TH K& AL 70,000, 000 «50% 35,000
= 14,000
a 21,000
A (LHME) SHSMMT L 40,000 40,000 0
< 12,000
i 28,000
402 212t A= 01 & 40,000 40,000 0
& 12,000
i 28,000
01 RIZERt2E X 40,000 40,000 0
OEAMNZHHE DI 40,000,000& *2CH x50% 40,000
< 12,000
s 28,000
DEESEINHA A 19,500 29,000 £9,500
< 5,850
= 13,650
402 DI2HX 20| & 19,500 29,000 ~9,500
< 5,850
[ia 13,650
01 IZERI 22X 19,500 29,000 29,500
ONSEHLESII XA J ALY 39,000,000 *50% 19,500
< 5,850
s 13,650
Zol 9 HEMUH ASSANA 24,000 0 24,000
& 20,000
= 4,000
402 2IZ2tXt=01& 24,000 0 24,000
& 20,000
T 4,000
01 RIZERI2E X 24,000 0 24,000
O=g & FMUH MEEZML
40,000, 000 «60% 24,000
& 20,000
= 4,000
Jt=satel 8 2t 2,010,068 3,591,450 A 1,581,382
= 476,672
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2N

X{ XH -
S =

=
i

2

Mo A

303,008
69,195
157,082

206 M= Hl

Mo A

240,685
120,008
35,795
84,882

278,124

N 37,439

01 MEHd

OJ=HAFZ(HRMIHOIAA HA)

HH A

240,685
240,685

120,008
35,795
84,882

278,124

A 37,439

402 RI2FX=01 M

MW

288,600
183,000
33,400
72,200

288,000

600

O SHXIMIAH0IA A

HH W

172,000, 000:& *60%

Mo A

288,600

185,400
131,400
16,200
37,800
103,200
51,600
17,200
34,400

288,000

600

S|
]
r
08
0F
rJ
Mz

EUNE

30,200

9,060
21,140

34,300

A 4,100

201

e
T
H0
02
=

Mo

9,000

2,700
6,300

1,000

8,000

01 At 22l bl

OJtx dgd 22 ¢4

M H

9,000
9,000

2,700
6,300

1,000

8,000

206 M= Hl

UL

20,000

6,000
14,000

32,500

A 12,500

01 = dl

SURE

20,000
20,000

6,000
14,000

32,500

A 12,500

301 et &2

Mo

1,200

360
840

800

400

80,000& 155

1,200
1,200

800

400
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2N
X ZH -
L= B

el s

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

360
840

Mo

A B4t e 61,740 66, 150 N4,410
18,522
12,348
30,870

Mo H

301 gEtE &= 61,740 66, 150 A4,410
18,522
12,348
30,870

M H

MIIEtE2d= 61,740 66, 150 AN4,410
Ox E=4det el 7,000& +8,8205 61,740
18,522

12,348
30,870

Mo A

AHE 2A3 167,790 307,294 A 139,504
134,232
10,067
23,491

U R I

301 LEE A F 167,790 307,294 A 139,504
134,232
10,067
23,491

MW

MIIEtEY = 167,790 307,294 A 139,504
A= 243 s 167,790
134,232

10,067
23,491

Mo R

2HiLs SSLHE 24 107,551 115,843 N8,292

53,775
16,133
37,643

S

M

402 2IZ2tXt=01& 107,551 115,843 AB,292
53,775

16,133
37,643

S

M

2l 107,551 115,843 8,292
OZLHMASSSYME oA XA 57,931
28,965
8,690
20,276
Og2Ha=sssdNet 234 XN 49,620
24,810
7,443
17,367

S

EURE

S

UL

THS Al XHE

oz

o A 63,450 108,000 N 44,550

19,410
44,040

EUNL
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e =

g A
tol

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

EURLY

59,700

17,910
41,790

28,

000

31,700

O7HMS #ERX Alsdl X

10

EURE

59,700
59,700

17,910
41,790

28,

000

31,700

402 QI2tXt=01 ™

M

,750

,500
,250

80,

000

AT6,250

SANEXE 7,500, 000 «50%

UL

,750
. 750

,500
2,250

—_ W WwIN = Ww

80,

000

AT6,250

r
J

>
o
40
x
°
0
>
o
>
alll
>
o

Mo H

17,820
8,910
2,673
6,237

,809

15,011

402 2I2tXt=01&

HH A

17,820
8,910
2,673
6,237

,809

15,011

35,640,000& *50%

Mo

17,820

17,820
8,910
2,673
6,237

,809

15,011

HYA22828 A=A

MW

24,000
12,000
4,000
8,000

30,

000

A 6,000

402 RIZ2tXt=01

Mo R

24,000
12,000
4,000
8,000

30,

000

A 6,000

=]
-
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-

0x M

=
O e
B
S

it

S

HE NESXAAL

10,000, 0003 *42H 2 *60%

Mo

24,000

24,000
12,000
4,000
8,000

30,

000

6,000

2 0J101 = Kl

S

EUNE

75,832
37,916
12,639
25,277

75,

830

402 RIZ2tXt=01 ™

75,832

75,

830
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EXN: FAXE
B SNQUH HASY L3
Sl JtER MY Us CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
J| 37,916
= 12,639
= 25,277
02 SI2HCH & AL HI 75,832 75,830 2
OAMIDI0IE M K& A 75,832
J| 37,916
= 12,639
= 25,277
29 =4 25,200 23,400 1,800
= 7,560
= 17,640
301 Lt A= 25,200 23,400 1,800
= 7,560
= 17,640
11 JIEtE A2 25,200 23,400 1,800
o229 ¢ 700,000 x3% x12& 25,200
& 7,560
= 17,640
Z A SHACCPA H E AL 33,600 50,400 A 16,800
J| 19,200
& 4,800
= 9,600
402 SI2FXHE0| & 33,600 50,400 A 16,800
J| 19,200
& 4,800
= 9,600
01 QI2tXE8 X 33,600 50,400 A 16,800
OSAISHACCPH A E A 48,000,000 *70% 33,600
J| 19,200
= 4,800
= 9,600
IEER ANEEAS 395,000 565,000 A 170,000
206 M = Hl 20,000 20,000 0
01 =4l 20,000 20,000 0
OUWH XS 2E=SHAH 20,000
402 SI2FXHE0| M 375,000 545,000 A 170,000
01 Q1228 X 125,000 245,000 A 120,000
OgAsE XIAY 400, 000& *25CH *50% 5,000
OLHESH 2= MY 400,000& »200CH *50% 40,000
Ost=eahn X&SAIY 40,000
Qs Z8 NI AY 40,000
02 OI2HCH &4 AF S HI 250,000 300,000 A 50,000
OEMHI = 24 AHH| X & 250,000
IIEE =Xl Atg 254,300 1,401,000 A 1,146,700
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el s

SA-3H-S(3AH) - MRAS - BES Off &t 24

=
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==
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Ol
0y

S

109,300
64,550
80,450

M H

307 glztol & 40,000 80,000 40,000
20,000

8,000
12,000

S

M H

02 e2HHEEEXES 40,000 80,000 240,000
OMyl&zZdl X& 200,000& »200ha 40,000
20,000

8,000
12,000

S

EUNE

402 RI2FX=01 M 214,300 1,321,000 A 1,106,700
89,300

56,550
68,450

N

EUNLY

01 QIR EEXR 214,300 1,321,000 A 1,106,700
SH2IAGONEAIE)

327,500,000 *40% 131,000
65,500
32,750
32,750
OUHI & XX ALY 119,000, 0002 *70% 83,300
23,800
23,800
35,700

S

EUNLY

S

Mo

&
[
)
o
[
Jy
oy
ol

2,448,500 1,239,000 1,209,500
1,359,000
420,000
669,500

Mook

AS dE2dAH 1,075,000 1,170,000 A 95,000

655,000
420,000

ooy

306 2= 200,000 200,000 0

125,000
75,000

oo

A3 200,000 200,000 0

R ES 150,000
100,000
50,000
OXNEXNEZHAE 23 50,000
25,000
25,000

ooy

ooy

307 glz2tol & 667,000 617,000 50,000

418,000
249,000

oo

02 QIZtFAE XS 531,000 544,000 A 13,000
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AR RPN S
B SNQUH HASY L3
SR ESTEE e CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
OYaXNEZZSAHAHAGEH 29 80,000
Z 40,000
= 40,000
OYMIZZYAHAAS IS 10,000
2 5,000
= 5,000
OYARE oot SHDS
77,000,000 *64.935% 50,000
& 35,000
= 15,000
OYMIZ2HAEANLEH 2g 2ASY 20,000
z 10,000
< 10,000
ORIIS M HACCP A& E XI&
50,000,000 *60% 30,000
2 15,000
< 15,000
OZ2sEdE HsHMoE g2 & E2SHA
393,000,000& *86.7684% 341,000
= 253,000
& 88,000
04 BIZtHAIE X S 136,000 73,000 63,000
Ogtgs It & BHEOD228A Al
150,000, 000& *90.6666% 136,000
& 60,000
< 76,000
402 QIZ2tXt=01 208,000 353,000 A145,000
Z 112,000
S 96,000
01 22 t=2x 208,000 353,000 A 145,000
OSs/7sY K8 AN28 A=XE MY
180,000,000 *60% 108,000
= 60,000
S 48,000
OYeANZMg2g SH=HL
50,000,000 *60% 30,000
& 22,000
S 8,000
OSSdUNE Z3E8)| & ZEWHY
100,000,000 *70% 70,000
& 30,000
S 40,000
NESHAHA 2= 36,000 24,000 12,000
308 X+l &M S0I A 36,000 24,000 12,000
06 WEII20USEX= 36,000 24,000 12,000
OgaNMINsSsl NE2HE= M BEXZ 36,000
AUXNZ LY SEAS 207,500 0 207,500
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A SMUII=1
B SNQUH HASY L3
el XIZ0IE MAs CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 L2l 3,000 0 3,000
01 At 22l 3,000 0 3,000
OME(MBIAE) 28 S8 =52 3,000
202 odl 4,000 0 4,000
01 = LH o4 1l 4,000 0 4,000
OXI=J|&lz2e 2= 4,000
402 RI2EX=01 M 200,500 0 200,500
01 2I2tR2E X 40,000 0 40,000
OHsEAZ (ZE)HLAMY 40,000
02 QI 2HCH e A S HI 160,500 0 160,500
ORA AHTY OIXNEE A
1,262,500,000& *4% 50,500
OYs=20/I(Helper) K& AL
120,000, 000& *50% 60,000
OHRA MURSHAIAY 50,000
SEMASLHAMS 904,000 0 904,000
= 500,000
[ia 404,000
201 Let249] 110,000 0 110,000
& 55,000
[ia 55,000
01 At 22/l 20,000 0 20,000
OYAaNII=ZSHEAYH 2 0
OXZNEg2Zd 222 HMH 20,000
= 10,000
s 10,000
03 &AL S HI 90,000 0 90,000
OUEXNZSEANSE /TS 10,000
& 5,000
e 5,000
OXEZHE2Z saa Fot 80,000
= 40,000
[ia 40,000
207 A RO H| 70,000 0 70,000
=1 49,000
[ia 21,000
01 22 ESHI 70,000 0 70,000
OYANIIZSHEANGH 2F ALE 20,000
& 14,000
e 6,000
OgaX=ZAECE2E ZEHENY 50,000
& 35,000
i 15,000
307 21201 A 574,000 0 574,000
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A SMUII=1
B SNQUH HASY L3
el XIXD1&8 Mek2st (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 334,000
s 240,000
02 QIAHFAEXS 574,000 0 574,000
OXZERelfg & olerd 9,000
& 7,000
2 2,000
OUEMHOIE OHE & 245,000
2 142,000
s 103,000
OFHHHOE 40,000
& 25,000
s 15,000
O [AXA & 29 80,000
2 40,000
[ia 40,000
OXEE XNZNME 2208 29 35,000
& 25,000
s 10,000
ORAZENEY 60,000
= 40,000
[ia 20,000
OXZHE2Z 230/HE 105,000
& 55,000
s 50,000
401 Al Bl 28I 150,000 0 150,000
& 62,000
s 88,000
01 A& HI 150,000 0 150,000
OHdsHEgds =4 150,000
& 62,000
[ 88,000
YMRFE N FAAY 20,000 0 20,000
2 18,000
= 2,000
308 XXM SO0IA 20,000 0 20,000
& 18,000
= 2,000
05 XX SHM2ARES 20,000 0 20,000
ORFHRAQUGHAI X EHE OtHE RE3
20,000,000& » 1 20,000
& 18,000
e 2,000
Y= HAH SEAY 206,000 0 206,000
& 186,000
= 20,000
308 XXM S0 A 68,000 0 68,000
& 62,000
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EXN: FAXE
B SNQUH HASY L3
e XNEDINE Mg (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 6,000
05 AXSHHZ2ZEES 2 68,000 0 68,000
O%9 8t=2, SAY LS23 MEAH A
o 2= 68,000,000 x14 68,000
2 62,000
= 6,000
401 Al HI L £ 0HHI 138,000 0 138,000
2 124,000
= 14,000
01 Al& H| 138,000 0 138,000
Oes38A HEZ ZH(XIXZESAAEZ Q|
[O) (8219 A) 0
OgdseSal Hegd 24 (8J18AH) 138,000
2 124,000
= 14,000
X ZpS DBt = 502,000 702,000 A 200,000
QIAIX|RgHe| 2A22dY 502,000 702,000 A 200,000
202 044 2,000 2,000 0
01 2L Y| 2,000 2,000 0
OYAXEZHOtIIA &2 29 2,000
306 52 500,000 700,000 A 200,000
01 52 500,000 700,000 A 200,000
OMe-Eol AAXXHOHIIE EH= 500,000
X Z2CHH =X & M35 5,605,000 6,911,000 A 1,306,000
2 2,235,000
= 2,280,000
= 1,090,000
AAXNXZMEHONDIIE =M 1,500,000 1,000,000 500,000
& 1,000,000
= 500,000
401 AlEHIZL 2 0HY| 1,500,000 1,000,000 500,000
& 1,000,000
= 500,000
01 Al&EH| 1,492,800 1,000,000 492,800
OINZIEZHE (YAX XA ELRY) 1,492,800
= 1,000,000
= 492,800
03 Al 201 Y| 7,200 0 7,200
OINZIE2HE (LYAX XA EZIKH) 7,200
AAXAEHHEXLAIS 3,855,000 5,423,000 A 1,568,000
2 2,035,000
& 1,280,000
= 540,000
401 AlEHIZL 2 0HY| 3,855,000 5,230,000 A 1,375,000
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CHE - EI(BA) - NRAY - BYS

=

i
2m

13,996
3,500

21,046

22,154

21,046
21,046

22,154

Husz
1,108
A 1,108

4,200

4,200

128 »350,000&

4,200
4,200

4,200
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